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134, Downe Court Rosad,
Purley, Sarray.
1957 February 11,

Demar Sir Ronald,

I have enjoyed reading your correspondence with
lieCrea in DIBCOVERY. Muoh water has flowed under the bridge since
you wrote; I snolose a few druplutsi' But 11 1a really 8ll qu _ite
Bn unnegessary luxury, becausa the anewser to one simple question
would ellence me completely and for aver, yet, strange to say,
although I have appesled to one etter angthsr of the eminent
persone who have writti;,i;f%%%s%? about lomertial fremes end what

not, none of them will Gave erythe moet distant comment on 1it.
It is very disheartening.

The guestion ls this. Whioh step in the following
argument is wrong (please stats 1, 2 or 3), and why? -

(1) According to relativity, 1f two bodies (s,g. two i1dentisdl
clooks) separate and reunite, there ie no observable phenomenon
that will enable one to say, in an absolute sensee, that one rather
than the other hae moved. |

(2) If, on reunion, one oloock ie ratarded by & quantity de-
pending on the motion 'end the other ie not, that phenomenon would
enable ones to sayfthat the first had moved and not the second,

: (3) Hence, 1if relativity le trus, the olocks must be retarded
egually or not at all: in either case their readings will agree on
raunion 1f they agreed At separation. -

There are only three steps, und they eres 81l very
Bimple. ° I shall probably write to DISCOVERY inviting help Trom
any souros &t all, but 1if you oould enlighten me, or persuade
MoCrea to do so (whioh I have not succeeded in doing) I would be
most gratafnl. o,

L have dealt with the matter of accelerations in
the Institute of FPhystos artiocle. But sinoe the Esrth ie accela-
rated with reepsot to-the traveller in exasctly the same way 28 the
traveller with respect to the Earth, I find it odd that the Earth
clock escapes the effeot while tha other does mot. This seems
uncgnsolously to bewllder othere also; e.g. Crawford, im NATURE,
Jan. S5th 1957, olaims to have proved that acoeleration has no
sffect on the .rate 0f & clook (but courage, he gets the smored
result all right, so all is well). But perhaps, ss MoCrea
suggests somewhere, the differsnce arises from the mere presence
2T an engline on the space-shlp, and not to the acosleration whioch
1t causes, But then, how strange it is that 1t oan be aby sort
of engine at m=ll, producing any sort of accelaration, and the
retardation is sexuoily the same in all gasges, and is & function
only of the veloolty of the olock whem the engine is not working.
what & wonderful talisman &n engine must bel But I must stop, or

you might be tempted to think that perhemps Dingle might be Tight
after all, and that would be & tragedy.

(45 hbha)



But I would like my poor eimpls 1ittle question
answsred. fion't you help me?

Yours eincerely,




